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Titration Calculation Practice
1. 30 mL of 0.10 M NaOH is used to completely neutralize 25.0 mL of HCl. Determine the concentration of the acid.

a. Write the balanced chemical equation for the reaction:
b. Rewrite the balanced chemical equation BELOW the box and solve for the concentration (molarity) of the acid:
	Moles

	
	
	
	

	Molarity (M)

	
	
	
	

	Liters (L)

	
	
	
	


2. 50 mL of 0.2 M NaOH is used to completely neutralize 20 mL of H2SO4. Determine the concentration of the acid.
a. Write the balanced chemical equation for the reaction:
b. Rewrite the balanced chemical equation BELOW the box and solve for the concentration (molarity) of the acid:
	Moles

	
	
	
	

	Molarity (M)

	
	
	
	

	Liters (L)

	
	
	
	


3. 25.0 mL of 0.05 M Ba(OH)2 is used to completely neutralize 40.0 mL of HNO3. Determine the concentration of the acid.
a. Write the balanced chemical equation for the reaction:
b. Rewrite the balanced chemical equation BELOW the box and solve for the concentration (molarity) of the acid:
	Moles

	
	
	
	

	Molarity (M)

	
	
	
	

	Liters (L)

	
	
	
	


4. 12.4 mL of 0.5 M Al(OH)2 is used to completely neutralize 35.0 mL of HNO3. Determine the concentration of the acid.
a. Write the balanced chemical equation for the reaction:
b. Rewrite the balanced chemical equation BELOW the box and solve for the concentration (molarity) of the acid:
	Moles

	
	
	
	

	Molarity (M)

	
	
	
	

	Liters (L)

	
	
	
	


5. 21.5 mL of 1.3 M calcium hydroxide is used to completely neutralize 15.5 mL of hydrochloric acid. Determine the concentration of the acid.
a. Write the balanced chemical equation for the reaction:
b. Rewrite the balanced chemical equation BELOW the box and solve for the concentration (molarity) of the acid:
	Moles

	
	
	
	

	Molarity (M)

	
	
	
	

	Liters (L)

	
	
	
	


